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Nro. De Control : ……….... 
 

LEVEL 1 
 

 

Estimated time needed: 20 minutes.       

 

 

Exercise 1 – Questions 1-5 

 

 

• Read the sentences about movies and choose the best word for each space: 

 

1) There __________  a lot of good movies playing at the Multiplex Cinemas tonight. 

  a) is                                   b) are                              c) were 

 

2) "Spider Man" ______________ in Cinema 1 now .                                                              

  a) play                               b) plays                           c) is playing 

 

3) "Ice Age 2" _____________ at 7p.m. in Cinema 2.  

  a) starts                               b) start                            c) starting 

 

4) Peter _______________ go tonight because he's ill. 

  a) can                                  b) could                           c) can't 

 

5) Peter _______________ next Saturday instead because he is in bed now. 

  a) goes                                 b) is going to go              c) going 

 

 

Exercise 2 – Questions 5-10 

 

 

• Complete the conversations between two people at a party using the given options. There 

are two extra choices: 

 

   Gordon: Where do you live? 

   Marie: (A) ............................................................................. 

   Gordon: Do you work near here? 
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   Marie: (B) ............................................................................. 

   Gordon: How long does it take you to go to work ? 

   Marie: (C) ............................................................................ 

   Gordon: I walk because I live near the office. 

   Marie: (D) ............................................................................. 

   Gordon: What are your hours? 

   Marie: (E)............................................................................... 

 

 Options: 

 

1) No, I don't. I work out of town. 

2) I was born near here. 

3) It takes me half an hour by train. 

4) From 8 a.m to 5 p.m. 

5) At 8 o`clock. 

6) At the moment I'm living with my parents but I'm going to rent a flat with a friend . 

7) You are lucky! My brother does too. 

 

 

Exercise 3 – Questions 11-20 

 

 

• Read the article about penguins and choose the best word for each space: 

 

PENGUINS 

 There (1).................. seventeen different types of penguins. They can be (2) ................... 

forty centimetres to one metre tall. They all (3) ..................... in the south part of the world. In 

winter, they swim (4) ....................... long way to find warmer weather. 

 

 In spring, (5) ...................... penguins come together in the beaches of Antarctica. The 

female penguin has one or two eggs. She puts (6) ....................... eggs on the ground and sits there 

to keep (7) ............................ warm. But she (8) .........................sit all the time because penguins 

can move with one egg between their legs. 

(9) ............................... the female penguin is sitting on the eggs,  the male penguin brings her food. 

He also (10) ........................... this when the baby penguins are born. 
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 Now choose the correct alternative for each space: 

 

 

(1) a) is b) are c) be 

(2) a) from b) by c) between 

(3) a) lives b) live c) living 

(4) a) one b) the c) a 

(5) a) lots b) much c) many 

(6) a) her b) hers c) she 

(7) a) it b) them c) their 

(8) a) doesn't b) don't c) isn't 

(9) a) When b) How c) Who 

(10) a) do b) does c) doing 
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KEY TO USE OF ENGLISH. LEVEL 1. 

 

 

• Exercise 1 

 
1) b 

2) c 

3) a 

4) c 

5) b 

 

• Exercise 2 
 

A) 6) 

B) 1) 

C) 3) 

D) 7) 

E) 4) 

 

• Exercise 3 
 

1) b 

2) a 

3) b 

4) c 

5) c 

6) a 

7) b 

8) a 

9) a 

10) b 

 

 

 

1 point each correct answer. Total: 20 points. 

 
 

  

 


